A BILL FOR AN ORDINANCE LEVYING AGAINST THE PROPERTY ESPECIALLY BENEFITTED THEREBY, ASSESSMENTS FOR THE COST OF THE STREET IMPROVEMENTS ON SECOND STREET FROM OAK STREET TO ROSE STREET AND DECLARING AN EMERGENCY.

ORDINANCE BILL NO. _____ FOR 1958 ORDINANCE NO. _____

WHEREAS, the owners of more than fifty (50) per cent of the property abutting upon the street hereinafter described have filed with the City Recorder of the City of Lebanon, Oregon, their petition asking for street improvement on Second Street from Oak To Rose Street, and

WHEREAS, the Common Council of the City of Lebanon ordered the City Engineer of the City to prepare and file plans, specifications and estimates of the cost of improvement of said street, and

WHEREAS, the City Engineer by order of said Council, thereafter prepared and filed plans, specifications and estimates of the cost thereof, which were approved and accepted by Resolution9 for 1957, passed by the Council and approved by the Mayor on the 19th day of February, 1957, and

WHEREAS, the Common Council thereafter gave notice of intention to improve said street in the manner provided by the Charter of said City, the proof of posting of such notice being now on file herein; and the time for remonstrance did elapse thereafter without any remonstrance having been made against the said street improvement by the owners of a majority of the property adjacent thereto; and it then appearing unto the said Council that said street improvement should be made, the Council did, by Ordinance No. 983, passed by the Council and approved by the Mayor on the 19th day of March, 1957, duly establish and declare its jurisdiction to make said street improvement and ordered that the work be done by contract to be awarded to the lowest responsible bidder, and there be published for (10) ten days in a newspaper published in Lebanoh, Oregon, a notice inviting proposals for improvement of said street, and

WHEREAS, pursuant to said order the City Recorder caused to be

published in the Lebanon Express "Notice Inviting Proposals for the Making of said Street Improvement," in the manner required by the Ordinance and Charter of the City of Lebanon, proof of the publication of said notice now being on file herein, and

WHEREAS, upon the expiration of the time required by the Charter for the submission of bids, the bids received by the City Recorder for the making of said street improvement were opened and submitted to the Council, and <u>Joe D. Morse, Forrest E.</u> <u>Morse and William F. Morse, dba Lebanon Sand & Gravel</u>, a responsible bidder having submitted the lowest bid, was awarded the contract for making said street improvement, and

WHEREAS, the work and improvement has been completed and approved, having been done in accordance with the Charter and Ordinance of the said City of Lebanon, and the costs of said work and improvements has been determined, now therefore,

THE PEOPLE OF THE CITY OF LEBANON DO ORDAIN AS FOLLOWS:

Section I. That the costs of improving said street to be borne by the property abutting upon and adjacent to the above described proposed street is $\frac{4}{266.59}$

Section II. That the proportionate share of said cost of said work and improvement to be borne by the real property especially benefitted thereby, and to be assessed therefor, is hereby declared to be the amount set immediately after the separate description of each lot or tract of land hereinafter stated, and each of said lots or tracts of land is determined and declared to be benefitted by said improvement in the sum equal to or greater than the amount assessed thereto hereinafter; and each of said lots or tracts of land should be, and the same hereby is, assessed for its proportionate share of the cost of said improvement in the sum set opposite the description thereof, to-wit: IMPROVEMENT PROJECT NO. 6 1957 SECOND STREET WIDENING

COLLEN CONTENLOTES

COLLEWISE MILLER 201

1.适应约如此正常动挤的

EVELEN

Width of Pavement Each Side 4 feet Combined Curb & Gutter

ASSESSMENT TO PROPERTY OWNERS

Paving	1414.79 Sq.Yds.	\$2256.61 2,209.41
Curb & Gutter	3183.315 Lin.Ft.	12101.03 2,057.09
	To tal:	\$4357.64 4,266.50

BELLINGER, Bert (160-474) Improvement Project Second Street Widening. -

\$ 47.28

44.01

91.29

Lot 8, Block 2, in the City of Lebanon, Oregon.

Paving 66.68' frontage 29.64 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.68 Lin.Ft. @ \$0.66 Total Paid

BENNETT, Mary R. (Cert.1366) Improvement Project Second St. Widening. -

Balance

Lot 4, Block 9, in City of Lebanon, Oregon.

Paving 66.66' frontage Combined Curb & Gutter	29.63 Sq.Yds. @ \$1.595 66.66 Lin.Ft. @ \$0.66	\$ 47.26
	Total ["] Paid Balance	\$ 91.26

BORUM, Millie C. (140-587) Improvement Project Second Street Widening.

The East 39 feet of the West 84 feet of the South 16 feet of Lot 7, Block 5; also: The West 119 feet of Lot 8, Block 5. EX: the East 55 feet of the West 119 feet all in Ralston's Second Addition to the City of Lebanon. EX: the North 18 feet of the West 45 feet of Lot 8.

Paving 48.10' frontage 21.38 Sq.Yds. @ \$1. Combined Curb & Gutter 48.10 Lin.Ft. @ \$0. Tota Paid Bala	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
BURLESON, Maude (225-253) Improvement Project Sec	ond St. Widening.
Lot 7, Block 4, in the City of Lebanon, Oreg feet of Lot 4.	on. EX: East 50
Paving 66.335' frontage 29.48 Sq.Yds. @ \$1 Combined Curb & Gutter 66.335 Li.Ft. @ \$0 Tota Paid Bala	
CARROLL, Arley J. & Hazel M. (235-653) Improvemen Street Widening.	

Lot 4, Block 10, in the City of Lebanon, Oregon.

f

C

 Paving 66.575' frontage
 29.59 Sq.Yds. @ \$1.595
 \$ 47.20

 Combined Curb & Gutter
 66.575 Li.Ft. @ \$0.66
 43.94

 Total
 \$ 91.14

 Paid

 Balance

CITY OF LEBANON (227-845) Improvement Project Second St.Widening. m Hut Lots 1 & 2, Block 20, Ralston's 2nd. Addition to Lebanon. Paving 132.70' frontage 58.98 Sq.Yds. @ \$1.595 \$ 94.07 Combined Curb & Gutter 132.70 Lin.Ft. @ \$0.66 87.58

mbined Curb & Gutter 132.70 Lin.Ft. @ \$0.66 87.58 Total \$181.65 Paid Balance CRILL, Alphonso & Ruby J. (227-770) Improvement Project Second Street ~ Widening. The West 93 feet of Lot 5 and the North 6 feet of West 93 feet of Lot 6, in Block 1, City of Lebanon, Oregon. 32.25 Sq.Yds. @ \$1.595 72.56 Lin.Ft. @ \$0.66 Paving 72.56' frontage \$ 51.44 Combined Curb & Gutter 47.89/ 99.33/ Total Paid Balance DENNISON, W.H. & Agnes E. (167-219) Improvement Project Second Street ~ Widening. The East 84.50 feet of Lot 1, Block 18, in Ralston's 2nd. Addition to Lebanon. Paving 66.00' frontage 29.33 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.00 Lin.Ft. @ \$0.66 \$ 46.78 43.56 90.34 Total Paid Balance DONACA, John M. & Minerva A. (163-424) Improvement Project Second -Street Widening. Lot 3 in Block 8, in the City of Lebanon. \$ 46.91 Paving 66.175' frontage 29.41 Sq.Yds. @ \$1.595 66.175 Li.Ft. @ \$0.66 43.68 Combined Curb & Gutter Total 90.59 Paid Balance ELVIN, Jack R. & Wilda M. (234-308) Improvement Project Second Street ~ Widening. The East 1/2 of Lot 2, Block 18, Ralston's Second Addition. Paving 66.00' frontage 29.33 Sq.Yds. @ \$1.595 Gembined Curb & Gutter 66.00 Lin.Ft. @ \$0.66 \$ 46.78 43.56 来 90.34 Total Paid Balance GAMBERG, Harold E. & Eleanore A. (210-813) Improvement Project -Second Street Widening. The West 117 feet 6 inches of Lots 5 & 6, Block 15, except the South 50 feet of the West 117 feet 6 " of Lot 6, in Ralston's 2nd. Addition to Lebanon. EX: the East 50 feet of the West 117' of Lot 5 and the East 50 feet of the West 117 feet of the North 16 feet of Lot 6. Paving 82.00' frontage 36.44 Sq.Yds. @ \$1.595 Combined Curb & Gutter 82.00 Lin.Ft. @ \$0.66 \$ 58.12/ 54.12 Total \$112.24 Paid Balance GILGENBACK, P.J. (132-213) Improvement Project Second Street Widening. ~ Lot 3. Block 20, in Ralston's 2nd. Addition to Lebanon. Paving 66.35' frontage 29.49 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.35 Lin.Ft. @ \$0.66 \$ 47.04 43.79 90.83 3 Total Faid Balance

GINTHER, Perry & Nellie C. (159-204) Improvement Project Second Street Widening.

Lot 3, Block 18, in Ralston's 2nd. Addition to Lebanon.

Paving 66.00' frontage 29.33 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.00 Lin.Ft. @ \$0.66 Total Paid Balance 46.78 46.78 43.56 -----

GOULARD, Myrtle (255-370) Improvement Project Second Street Widening.

50 feet of the North side of Lot 7, Block 5, in Ralston's 2nd. Addition to the City of Lebanon.

Paving 50.10' frontage 22.27 Sq.Yds. @ \$1.595 \$ 35.52 Combined Curb & Gutter 50.10 Lin.Ft. @ \$0.66 33.07 Total \$ 68.59 Paid Balance

GREEN, R. Wayne & Mabel Rae (179-597) Improvement Project Second ~ Street Widening.

The West 119 feet of Lot 8, Block 15 in Ralston's 2nd. Addition to Lebanon.

Paving 66.00' frontage Combined Curb & Gutter	29.33 Sq.Yds.	@ \$1.595 @ \$0.66	\$ 46.78
Complited Carb & Gatter	00.00 Hin.F	Total	\$ 90.34
		Paid Balance	

HAYES, Marilyn (225-25) Improvement Project Second Street Widening. r

Lot 6, in Block 4, in Lebanon.

Paving 66.33 Combined Curb	29.48 Sq.Yds. @ \$1.595 66.335 Li.Ft. @ \$0.66	\$ 47.02
	Total	\$ 90.80
	Paid	
	Balance	

adleman

(HOSEID, Kathleen-Wills(6-311) Improvement Project Second St. Widening. ~

The North 61 feet of Lot 7, Block 3, City of Lebanon.

 Paving 61.175' frontage
 27.19 Sq.Yds. @ \$1.595
 \$ 43.37

 Combined Curb & Gutter
 61.175 Li.Ft. @ \$0.66
 40.38

 Total
 Paid

 Balance

KELLENBERGER, Edward HOWE, Harry C. (Cert.1539) Improvement Project Second St. Widening.

Lot 7, in Block 2, in Lebanon.

Paving 66.68' frontage Combined Curb & Gutter	29.64 Sq.Yds. @ \$1.595 66.68 Lin.Ft. @ \$0.66	\$ 47.28 44.01
	Totäl	\$ 91.29 /
	Paid Balance	

HOWE, Harry C. & Cora J. (165-83) Improvement Project Second St. -Widening. Lot 4, Block 18, in Ralston's 2nd. Addition to Lebanon. Paving 66.00' frontage 29.33 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.00 Lin.Ft. @ \$0.66 \$ 46.78 43.56 90.34/ \$ Total Paid Balance HUSTON, W. Glenn & Willa (Cert. 1499) Improvement Project Second Street -Widening. The West 96 feet of Lots 5 & 6, Block 2, in the City of Lebanon. Paving 133.36' frontage 59.27 Sq.Yds. @ \$1.595 \$ 94.54 88.02 133.36 Lin.Ft. @ \$0.66 Combined Curb & Gutter \$182.56 Total Paid Balance HUSTON, W.Glenn & Willa E. (230-320)(218-670) Improvement Project ~ Second Street Widening. Lot 4, in Block 8, in the City of Lebanon. \$ 46.91 Paving 66.175' frontage 29.41 Sq.Yds. @ \$1.595 66.175 Li.Ft. @ \$0.66 43.68 Combined Curb & Gutter \$ 90.59/ Total Paid Balance INGRAM, Oscar (251-535) Improvement Project Second Street Widening. ~ 1/3 of Lot 3, Block 10, City of Lebanon. \$ 47.20 15.73 43.94 14.65 29.59 Sq.Yds. @ \$1.595 66.575 Li.Ft. @ \$0.66 Paving 66.575' frontage Combined Curb & Gutter 30.38 91,14 22.192 Total Paid Balance JOHNSON, Wilmer E. & Shirley H. (174-815) Improvement Project Second -Street Widening. Lots 1 & 2, Block 10, in City of Lebanon. 59.18 Sq.Yds. @ \$1.595 133.15 Lin.Ft. @ \$0.66 \$ 94.39 Paving 133.15' frontage 87.88 Combined Curb & Gutter Total \$182.27 Paid Balance KELLENBERGER, Edward (Cert. 1689) Improvement Project Second St. Widening. Lot 3, Block 9, in the City of Lebanon. \$ 47.26 Paving 66.66' frontage 29.63 Sq.Yds. @ \$1.595 Combined Curb & Gutter 66.66 Lin.Ft. @ \$0.66 44.00 \$ 91.26 Total Paid Balance

<pre>KELLENBERGER, Edward-Wills(6-311)(137-270) Improvement Project Second Street Widening. Lot 8 and the South 5 feet of Lot 7, Block 3, in Lebanon, Ore. Paring 71.175' frontage 31.63 5e.vds. & \$1.595 \$ 50.45 Combined Curb & Gutter 71.175 Li.Ft. & \$1.595 \$ 50.45 Combined Curb & Gutter 71.175 Li.Ft. & \$1.595 \$ 50.45 Total \$ 97.43 Paid Balance</pre> KELLENBERGER, Edward & Dora (172-395) Improvement Project Second ~ Street Widening. The East 80 feet of even width of Lots 1 & 2, Block 9, in the City of Lebanon. Paving 133.32' frontage 59.25'Se.Vds. & \$1.595 \$ 94.50 Combined Curb & Gutter 133.32 Lin.Ft. & \$0.66 \$ 77.99 Faid Balance Faid Example MELLY, Edith (235-282) Improvement Project Second Street Widening. The West 64 feet of Lot 5, Block 5, in Ralston's 2nd. Addition to Lebanon. Paving 66.10' frontage 29.38 Se.Vds. & \$1.595 \$ 46.86 Curb & Gutter Combined 66.10 Lin.Ft. & \$0.66 \$ 43.63 Total \$ 90.49 Faid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Se.Vds. & \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. & \$0.66 \$ 77.35 Total \$ 735 Total \$ 735 Total \$ 735 Total \$ 735 Total \$ 735 Total \$ 735 Faid Balance					
<pre>Paving 71.175' frontage 31.63 Se. Yds. @ \$1.595 \$ 50.45 Combined Curb & Gutter 71.175 Li.Ft. @ \$0.66 Total Paid Balance</pre> KELLENBERGER, Edward & Dora (172-395) Improvement Project Second - Street Widening. MELLENBERGER, Edward & Dora (172-395) Improvement Project Second - Street Widening. The East 80 feet of even width of Lots 1 & 2, Block 9, in the City of Lebanon. Paving 133.32' frontage 59.25 Sq.Yds. @ \$1.595 \$ 94.50 Combined Curb : Gutter 133.32 Lin.Ft. @ \$0.66 Total Balance KELLY, Edith (238-282) Improvement Project Second Street Widening. MELLY, Edith (238-282) Improvement Project Second St. Widening. MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MELLY Paid Balance MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MELLY Paid Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning. MELLY Paid MELLY Paid Paid Paid Paid Paid Paid Paid Paid	KELLENBERGER	, Edward-Wills (6-			
Combined Curb & Gutter 71.175 Li.Ft. @ \$0.66 46.96 Total \$ 97.45 Paid Ealance KELLENBERGER, Edward & Dora (172-395) Improvement Froject Second ~ Street Widening. The East 80 feet of even width of Lots 1 & 2, Block 9, in the City of Lebanon. Paving 133.32' frontage 59.25 Sq.Yds. @ \$1.595 \$ 94.50 Combined Curb & Gutter 133.32 Lin.Ft. @ \$0.66 87.29 Paid Balance KELLY, Edith (238-282) Improvement Project Second Street Widening. The West 64 feet of Lot 5, Block 5, in Ralston's 2nd. Addition to Lebanon. Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 \$ 46.86 Curb & Gutter Combined 66.10 Lin.Ft. @ \$0.66 43.63 Total \$ 90.49 Paid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.995 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 77.35 Total \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.695 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.695 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.695 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.995 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.995 \$ 193.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$1.666 77.35 Total \$ 101.17 Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening.	Lot 8 an	nd the South 5 fee	t of Lot 7, Bl	ock 3, in	Lebanon, Ore.
Street Widening. The East 80 feet of even width of Lots 1 & 2, Block 9, in the City of Lebanon. Paving 133.32' frontage 59.25 Sq.Yds. @ \$1.595 \$ 94.50 Combined Curb & Gutter 133.32 Lin.Ft. @ \$0.66 Total Paid Balance WELLY, Edith (238-282) Improvement Project Second Street Widening. MELLY, Edith (238-282) Improvement Project Second Street Widening. MIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Ourb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 Total Paid Balance MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. MIRKPATRICK Second Second St.Widening.				@ \$0.66 Total Paid	<u>46.98</u> <u>97.43</u>
the City of Lebanon. Paving 133.32' frontage 59.25 Sq.Yds. @ \$1.595 \$ 94.50 Combined Curb & Gutter 133.32 Lin.Ft. @ \$0.66 Total Paid Balance WELLY, Edith (238-282) Improvement Project Second Street Widening. The West 64 feet of Lot 5, Block 5, in Ralston's 2nd. Addition to Lebanon. Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 \$ 46.86 Curb & Gutter Combined 66.10 Lin.Ft. @ \$0.66 43.63 \$ 90.49 Paid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 181.17 Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening.	KELLENBERGER	, Edward & Dora (1			ect Second 🛩
Combined Curb & Gutter 133.32 Lin.Ft. @ \$0.66 Total Paid Balance WELLY, Edith (238-282) Improvement Project Second Street Widening. The West 64 feet of Lot 5, Block 5, in Ralston's 2nd. Addition to Lebanon. Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 \$ 46.86 Curb & Gutter Combined 66.10 Lin.Ft. @ \$0.66 43.63 Total \$ 90.49 Paid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 Total Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening.			width of Lots	1 & 2, Blo	ck 9, in
<pre>KELLY, Edith (238-282) Improvement Project Second Street Widening. ~ The West 64 feet of Lot 5, Block 5, in Ralston's 2nd. Addition to Lebanon. Paving 66.10' frontage 29.38 Se.Yds. @ \$1.595 \$ 46.86 Ourb & Gutter Combined 66.10 Lin.Ft. @ \$0.66</pre>			133.32 Lin.Ft. To Pa	@ \$0.66 tal id	87.99
Addition to Lebanon. Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 \$ 46.86 Gurb & Gutter Combined 66.10 Lin.Ft. @ \$0.66 Total Paid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 Total Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.	Kelley, Edith	(238-282) Improve	ment Project S	econd Stre	et Widening. 🗸
Curb & Gutter Combined 66.10 Lin.Ft. @ \$0.66 Total \$90.49 Paid Balance KIRKPATRICK, H.RWills(6-365)(149-152)(168-241) Improvement Project Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 Total \$181.17 Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.			, Block 5, in	Ralston's	2nd.
Second Street Widening. The West 130 feet 4 inches of Lots 5 & 6, Block 3, in City of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 87.35 Total Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.				@ \$0.66 Total Paid	
of Lebanon. Paving 132.35' frontage 58.82 Sq.Yds. @ \$1.595 \$ 93.82 Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 Total Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. " Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.	KIRKPATRICK,	H.R-Wills(6-365)			
Combined Curb & Gutter 132.35 Lin.Ft. @ \$0.66 Total Total Paid Balance KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. Beginning at Southwest corner of Lot 8,Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.		; 130 feet 4 inche	s of Lots 5 &	6, Block 3	, in City
KIRKPATRICK, H.R. (141-421) Improvement Project Second St.Widening. " Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.			132.35 Lin.Ft. T P	@ \$0.66 otal aid	87.35
Beginning at Southwest corner of Lot 8, Block 4, in Lebanon; thence East 109 feet; thence North 66 feet; thence West 109 feet; thence South 66 feet to beginning.	KIRKPATRICK.	H.R. (141-421) Im	the state of		St.Widening.
Paving 66 335! frontage 20 48 50 Vdc @ \$1 505 \$ 47 02	Beginnin thence East	ng at Southwest co 109 feet; thence N	rner of Lot 8, North 66 feet;	Block 4, 1	n Lebanon;
Combined Curb & Gutter 66.335 Li.Ft. @ \$0.66 43.78 Total \$ 90.80 Paid Balance	Paving Combined	66.335' frontage l Curb & Gutter	29.48 Sq.Yds. 66.335 Li.Ft.	@ \$0.66 Total Paid	43.78

KIRKPATRICK, Hugh R. (221-101) Improvement Project Second St. Widening. -The South 50 feet of Lot 2, Block 8, in Ralston's Addition to the City of Lebanon. Paving 50.00' frontage 22.22 Sq.Yds. @ \$1.595 Combined Curb & Gutter 50.00 Lin.Ft. @ \$0.66 \$ 35.44 33.00 3 68.44 Total Paid Balance MAYER, F.D., Kenneth M., John J. LARSEN, Joella A. Pro.Jr. (74-308) Improvement Project ~ Second St.Widening. Lot 1, Lot 2, Block 8, except the South 50 feet sold; in Ralston's Addition to the City of Lebanon. \$ 58.38 Paving 82.35' frontage 36.60 Sq.Yds. @ \$1.595 Combined Curb & Gutter 82.35 Lin.Ft. @ \$0.66 <u>54.35</u> \$112.73 Total Paid Balance MOTY, Marie T. (199-851) Improvement Project Second Street Widening. ~ Lot 4, Block 20, Ralston's 2nd. Addition to Lebanon. Paving 66.35' frontage 29.49 Sq.Yds. @ \$1.595 \$ 47.04 Combined Curb & Gutter 66.35 Lin.Ft. @ \$0.66 43.79 90.83 Total \$ Paid Balance PIONEER TRUST CO. (242-386) Improvement Project Second St. Widening. 2/3 Lot 3, Block 10, City of Lebanon. \$ 47.20 31.47 43.94 29.29 Paving 66.575' frontage 29.59 Sq.Yds. @ \$1.595 66.575 Lin.Ft.@ \$0.66 Combined Curb & Gutter 60.76 91.14 Total \$ 44.383 Paid Balance PLYWOOD & VENEER WORKERS LOCAL 2554 BLD.ASS.INC. (254-331) Improvement Project Second Street Widening. Lot 2, Block 19, in Ralston's 2nd. Addition to Lebanon. \$ 46.86 Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 66.10 Lin.Ft. @ \$0.66 43.63 Combined Curb & Gutter \$ Total 90.49 Paid Balance PRESBYTERIAN CHURCH (98-33) Improvement Proj.Second St. Widening. (W.1/2 of 4 for Parsonage) Lots 3 & 4, Block 19, in Ralston's 2nd. Addition to Lebanon. Paving 132.20' frontage 58.75 Sq.Yds. @ \$1.595 \$ 93.71 87.25 Combined Curb & Gutter 132.20 Lin.Ft. @ \$0.66 \$180.96 Total Paid Balance

SHANKS, Edith E. (173-537) Improvement Project Second St. Widening.				
Lot 7, Block 15, in Ralston's 2nd. Addition to Lebanon.				
Paving 66.00' frontage 26.33 Sq.Yds. @ \$1.595 \$ 46.78 Combined Ourb & Gutter 66.00 Lin.Ft. @ \$0.66 43.56 Total \$ 90.34 Paid Balance				
SHERIDAN, Anthony Paul & Helen Marie (255-466) Improvement Project ~ Second Street Widening.				
The West 75 feet of Lot 5, in Block 4, in City of Lebanon.				
Paving 66.335' frontage 29.48 Sq.Yds. @ \$1.595 \$ 47.02 Combined Curb & Gutter 66.335 Li.Ft. @ \$0.66 43.78 Total \$ 90.80 Paid Balance				
TOWER, Gertrude (224-42) Improvement Project Second St. Widening. 🗸				
The West 45 feet of the South 16 feet of Lot 7, and the North 18 feet of the West 45 feet of Lot 8, Block 5, in Ralston's 2nd. Addition to Lebanon.				
Paving 34.00' frontage Combined Curb & Gutter 15.11 Sq.Yds. @ \$1.595 \$ 24.10 Combined Curb & Gutter 34.00 Lin.Ft. @ \$0.66 22.44 Total \$ 46.54 Paid Balance				
TURNIDGE, P.L. & Olivia (159-654) Improvement Project Second St Widening.				
The South 50 feet of the West 117 feet 6 inches of Lot 6, Block 15, in Ralston's 2nd. Addition to Lebanon.				
Paving 50.00' frontage 22.22 Sq.Yds. @ \$1.595 \$ 35.44 Combined Curb & Gutter 50.00 Lin.Ft. @ \$0.66 33.00 Total \$ 68.44 Paid Balance				
(WILLIAMS), Louise (238-288) Improvement Project Second St. Widening.				
Lot 6, Block 5, Ralston's 2nd. Addition to Lebanon.				
Paving 66.10' frontage 29.38 Sq.Yds. @ \$1.595 \$ 46.86 Combined Curb & Gutter 66.10 Lin.Ft. @ \$0.66 43.63 Total \$ 90.49 Paid Balance				
WILLS, Virgil W. & Janet E. (339-385) Improvement Proj.Second St.Widening				
The West 53 1/6 feet of Lots 7 & 8,Block 1,City of Lebanon.				
Paving 133.12' frontage 59.16 Sq.Yds. @ \$1.595 \$ 94.36 Combined Curb & Gutter 133.12 Li.Ft. @ \$0.66 87.86 Total \$ 182.22 Paid Balance				

WILLS, Virgil W. & Janet E. (251-773) Improvement Project Second Street Widening.

2.33

The West 105 feet of Lots 5 & 6 in Block 1, City of Lebanon. Except: West 93 feet of Lot 5 and North 6 feet of West 93 feet of Lot 6.

~

 Paving 60.56' frontage
 26.92 Sq.Yds. @ \$1.595
 \$ 42.94

 Combined Curb & Gutter
 60.56 Lin.Ft. @ \$0.66
 39.97

 Total
 \$ 82.91

 Paid
 Balance

IMPROVEMENT PROJECT NO. 6 1957 SECOND STREET WIDENING

. .

.

	Com Gut Pav	bined Cu ter Strij ement Co	Width Eac rb & Gutt p only nplete 9" to Prope	er	1.76 pe 1.10 '	er Lin.Ft. er Sq.Yd. Lin.Ft.	a netwo
Property Owner	Deed Ref.	Prop. Front.	Curb & Lin.Ft.		Paven Sq.Yds		Total Cost
Bellinger	(160-474)	66.68		\$ 44.01	TENEDEL E		
	(100-4/4)	66.66	66.66	44.00	29.64 29.63	\$ 47.28 47.26	\$ 91.29 91.26
Borum	(140-587)	48.10	48.10	31.75	21.38	34.10	65.85
Burlson	(225-253)	66.335	66.335	43.78	29.48	47.02	90.80
Carroll	(235-653)	66.575	66.575	43.94	29.59	47.20	91.14
City of Leb. Crill	(227-845) (227-770)	132.70 72.56	132.70 72.56	87.58 47.89	58.98 32.25	94.07 51.44	181.65
Dennison	(167 - 219)	66.00	66.00	47.09	29.33	46.78	90.34
Donaca	(163-424)	66.175	66.175	43.68	29.41	46.91	90.59
Elvin	(234-308)	66.00	66.00	43.56	29.33	46.78	90.34
Gamberg	(210-813)	82.00	82.00	54.12	36.44	58.12	112.24
Gilgenback	(132-213)	66.35	66.35	43.79	29.49	47.04	90.83
Ginther Goulard	(159-204) (255-370)	66.00	66.00 50.10	43.56	29.33	46.78	90.34
Green	(179-597)	50.10 65.00	66.00	33.07 43.56	22.27 29.33	35.52 46.78	68.59 90.34
Hayes	(225-25)	66.335	66.335	43.78	29.48	47.02	90.80
	(6-311)	61.175	61.175	40.38	27.19	43.37	83.75
	ert.1539)	66.68	56.68	44.01	29.64	47.28	91.29
Howe	(165-83)	65.00	66.00	43.56	29.33	46.78	90.34
	(rt.1499)	133.36	133.36	88.02	59.27	94.54	182.56
Huston	(230-320) (218-670)	66.175	66.175	43.68	29.41	46.91	90.59
Ingram 1/3	(251-535)	66.575	66.575	43.94	29.59	47.20	91-14 30.36
Johnson	(174-815)	133.15	133.15	87.88	59.18	94.39	182.27
	Cert.1689		66.66	44.00	29.63	47.26	91.26
Kellenberger	(W.6-311)					State 1	
Vollophownow	(137 - 270)	71.175	71.175	46.98	31.63	50.45	97.43
Kellenberger Kelly	(172-395) (238-282)	133.32 66.10	133.32 66.10	87.99 43.63	59.25 29.38	94.50 46.86	182.49 90.49
Kirkpatrick (W		00.10	50.10	47.07	29.00	40.00	90.49
	(149 - 152)						
	(168-241)	132.35	132.35	87.35	58.82	93.82	181.17
Kirkpatrick	(141-421)	66.335	66.335	43.78	29.48	47.02	90.80
Kirkpatrick	(221-101)	50.00	50.00	33.00	22.22	35.44	68.44
Mayer-Larsen P Moty	(199-851)	66.35	82.35	54.35 43.79	36.60 29.49	58.38 47.04	112.73 90.83
Pioneer Trust	(199-091)	00.00	5.5.75	42.13	29.79	41.04	90.09
Co. 2/3	(242-386)	66.575	66.575	43.94	29.59	47.20	91.14 60.76
Ply.Wd.Loc.	(1		10.00	00 kg
2554 Data bar observe	(254-331)	66.10	66.10	43.63	29.38	46.86	90.49
Presby.Church Shanks	(98-33) (173-537)	132.20 66.00	132.20	87.25 43.56	58.75 29.33	93.71 46.78	180.96 90.34
Sheridan	(255-466)	66.335	66.335	43.78	29.48	47.02	90.80
Tower	(224-42)	34.00	34.00	22.44	15.11	24.10	46.54
Turnidge	(159-654)	50.00	50.00	33.00	22.22	35.44	68.44
Williams	(238-288)	66.10	66.10	43.63	29.38	46.86	90.49
Wills	(239-385)	133.12	133.12	87.86	59.16	94.36	182.22
Wills	(251-773)	60.56	60.56	39.97	26.92	42.94	82.91 4266.50
Prop.Owner Tot	als	3183.315		2057.09	1414.79	#2256.61	\$4357.64
City of Leb.Ge	neral)			\$670.50	110.84	\$ 176.79	\$ 847.29
Share on Prop		eral	31.16.74		3000 60	10177 LA	3428.41
Project Totals			3497.71	\$6156.00	1496.04	\$2433.40	\$ 8542,20

3497.71 \$6156.00 1496.04 \$2386.20 \$ 8542.20

GEnchitcomb.

Section III. That the Recorder of the City of Lebanon be, and he is, hereby ordered and directed to immediately enter a statement of each assessment made, declared and levied by this Ordinance, together with the names of the respective owners of such lots and tracts of land hereinabove described, in the Docket of City Liens of said City, as provided by the Charter; and to give notice forthwith to the owners of all of said property as to said assessments, as provided by the Charter of said City of Lebanon.

Section IV. That the said City of Lebanon having seriously depleted its funds and this ordinance therefore being required for the peace, health and safety of said City, an emergency is hereby declared and said Ordinance shall be in full force and effect immediately upon its passage by the Council and approval by the Mayor.

Passed by the Council and approved by the Mayor on this

ATTEST: